Full Costing and Variable Costing 4

Pp = 149 Pg =99
dch =60 dch =32
dIcA =10 d|CB =8
spep = 2 speg = 2
Xpp, = 2000 Xpg = 4000
XSp = 1900 Xsg = 4000

IMCfix := 3000

POHfix := 70000

AC := 80000

SC := 100000

DMC:= dmcp Xpp + dmegXpg

DMC = 248000
IMCvar := 0.03[DMC
IMCvar = 7440

DLC = dicyXpp + dicgXpg

DLC = 52000

POHvar := 0.89IDLC

POHvar = 46280

Cost per unit and result per unit (full costing)

. IMCfix + IMCvar . IMCfix + IMCvar
|mcfuIIA = Eﬂch |mcfuIIB = Eﬂch
DMC DMC

imcfuIIA =2.526 imcfuIIB =1.347
dlCA =10 dlCB =8

POHfix + POHvar POHfix + POHvar

ohfull , = [dic ohfull  := [dic

POitlA DLC A poits DLC B
pohfull 5 = 22.362 pohfullg = 17.889
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spcp =2

mcfull p := dmcp + imcfull o + dicy + pohfull  + spcp

mcfull A = 96.887
MCOGSfuIIA = mcfuIIADtsA

MCOGSfull , = 184085.955

spcg =2

mcfullg := dmcg + imcfullg + dicg + pohfull g + spcg

mcfuIIB =61.236
MCOGSfuIIB = mcfuIIBDtsB

MCOGSfullg = 244945.31

MCOGSfull := MCOGSfull , + MCOGSullg

MCOGSfull = 429031.266

AC
acp .= —— [incfull
A" Mcocstull A

ac = 18.066

sC
scp .= —— [incfull
A" McoGStull A

scp, = 22.583
tefull o := mefull p + acp + scp
tcfull 5 = 137.536
rp = pp —tefull o

rp = 11464

Cost-of-sales results accounting (full costing)

SA = pA&SA

Sp, = 283100

Si=Sp+ S

S =679100

TCOGSfuIIA = tcfuIIADtsA

TCOGSfull 5 = 261319.189

AC
acg = ——————[incfullg
MCOGSfull

acg = 11.419

sC
scp .= ——— [incfull
B~ Mcocstull B

scg = 14.273
tefullg := mefullg + acg + scg
tcfullg = 86.928

g = pg —tcfullg

rg = 12.072

SB = pBDtsB

Sg = 396000

TCOGSfuIIB = tcfuIIBDtsB

TCOGSfullg = 347712.077
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TCOGSfull := TCOGSfull At TCOGSfuIIB

TCOGSfull = 609031.266
RfuIIA '=Sp - TCOGSfuIIA RfuIIB =S - TCOGSfuIIB
Rfull A = 21780.811

Rfullg = 48287.923

Rfull :

RfuIIA + RfuIIB

Rfull = 70068.734

Total cost results accounting (full costing)

Sp = PalXsp Sg = pglXsg
Sp, = 283100 Sg = 396000
Si=Sp +Sg
S=679100
ICfull p = mcfuIIA[prA - st) ICfullg = mcfuIIB[prB - st)
ICfull 5 = 9688.734 ICfullg =0

ICfull := ICfuIIA + ICfuIIB

ICfull =9688.734

TPfuIIA =Sp + ICfuIIA TPfuIIB =Sg+ ICfuIIB
TPfull A = 292788.734 TPfull g = 396000
TPfull := TPfuIIA + TPfuIIB

TPfull = 688788.734

TCOPfuIIA = TCOGSfuIIA + ICfuIIA TCOPfuIIB = TCOGSfuIIB + ICfuIIB
TCOPfull A = 271007.923 TCOPfull g = 347712.077
TCOPfull := TCOPfuIIA + TCOPfuIIB

TCOPfull = 618720

RfuIIA = TPfuIIA - TCOPfuIIA RfuIIB = TPfuIIB - TCOPfuIIB

Rfull , = 21780.811 Rfullg = 48287.923

- 3 - fulvar04.mcd



Full Costing and Variable Costing 4

Rfull := RfuIIA + RfuIIB

Rfull = 70068.734

Cost per unit and result per unit (variable costing)

dch =60 dch =32
imecvar = IMCvarmi imcvarp = IMCvarmim
AT pmc A B” puc B
imcvarA =18 imcvarB =0.96
dlCA =10 dlCB =8
POHvar POHvar

ohvarp = dic ohvarp ;= dic
POVEA= "5 TA POVAB = "o c B
pohvarp = 8.9 pohvarg = 7.12
SpCA =2 spCB =2

mevarp (= dmcpy + imevarp + dicy + pohvarp + spep

mevarg = dmeg + imevarg + dicg + pohvarg + speg

mevary = 82.7 mevarg = 50.08
tovary (= movary tevarg := mevarg
CMp = pp — tovary cmg = pg -~ tevarg
cmp =66.3 cmg = 48.92

Cost-of-sales results accounting (variable costing)
CMp = cmpXsp CMp = cmpgXsg
CMp = 125970 CMp = 195680
CM = CMp + CMp
CM = 321650
Cfix := IMCfix + POHfix + AC + SC

Cfix = 253000

Rvar := CM - Cfix
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Rvar = 68650

Total cost results accounting (variable costing)

SA = pA&SA

Sp, = 283100

Si=Sp+ S

S =679100

ICvarp = mcvarAE@pr - st)

ICvary = 8270

TP\/arA:: SA + |C\/arA

TPvarp = 291370

TCOGSvar NG tcvar ADtsA

TCOGSvarp = 157130

SB = pBDtsB

Sg = 396000

ICvarg = mcvarBE@xpB - st)

ICvarg =0

ICvar = ICvarA + ICvarB

[Cvar = 8270

TP\/arB = SB + ICvarB

TPvarg = 396000

TPvar := TPvarp + TPvarg

TPvar = 687370

TCOGS\/arB = tcvarBDtsB

TCOGSvarg = 200320

TCOGSvar := TCOGSvarp + TCOGSvarg

TCOGSvar = 357450

TCOPvarp := TCOGSvarp + ICvary

TCOPvarp = 165400

TCOPvarg := TCOGSvarg + |Cvarg

TCOPvarg = 200320

TCOPvar := TCOPvarp + TCOPvarg

TCOPvar = 365720

Rvar := TPvar — TCOPvar — Cfix

Rvar = 68650
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Legend

Subscripts A, B for products

p = Selling price

dmc = Direct cost of materials per unit

dic = Direct cost of labour per unit

spc = Special direct production cost per unit

Xp = Quantity of goods produced

XS = Quantity of goods sold

IMCHix = Fixed indirect cost of materials

POHfix = Fixed production overhead

AC = Administration cost (fixed)

SC = Sales cost (fixed)

DMC = Direct cost of materials

IMCvar = Variable indirect cost of materials

pohvarpm = Variable production overhead per min

imcfull = Fixed + variable indirect cost of materials per unit
pohfull = Fixed + variable production overhead per unit
mcfull = Fixed + variable manufacturing cost per unit
MCOGSTfull = Fixed + variable manufacturing cost of goods sold
ac = Administration cost per unit

sc = Sales cost per unit

tefull = Total fixed + variable cost per unit

r = Result per unit

S = Sales (value), turnover

TCOGSfull = Total cost of goods sold in full costing

Rfull = Result in full costing

ICtull = Inventory change in full costing

TPfull = Total performance in full costing

TCOPfull = Total cost of goods produced in full costing
imcvar = Indirect cost of materials per unit

pohvar = Variable production overhead per unit

mcvar = Variable manufacturing cost per unit

tcvar = Total variable cost per unit

cm = Contribution margin per unit

CM = Contribution margin

Cfix = Fixed cost

Rvar = Result in variable costing

ICvar = Inventory change in variable costing

TPvar = Total performance in variable costing
TCOGSvar = Total cost of goods sold in variable costing
TCOPvar = Total cost of goods produced in variable costing
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